

International Journal of Psychology and Educational Studies



ISSN: 2148-9378

A Research on the Environmental Identities and Environmental Risk Perceptions of Classroom and Science Teachers According to Different Variables

Cihat YAŞAROĞLU¹, Hasan OTLU²

¹ Faculty of Education, İnönü University, Malatya, Turkey [©] 0000-0002-9574-1789

²Ministry of National Education, Malatya, Turkey [©] 0000-0003-1387-2628

ARTICLE INFO

Article History Received 08.10.2021 Received in revised form 20.01.2022 Accepted 06.02.2022 Article Type: Research Article

ABSTRACT

Environmental identity in human environmental behaviour expresses the extent to which the person relates to the environment while defining himself or herself. The relationship between human and the environment is mutual, and human's understanding of environment is essential to the environment. Perception of environmental risk is subjective because it is about personal view of environmental risk. The purpose of this study is to evaluate classroom teachers' and science teachers' perceptions of environmental risks based on several variables. For this purpose, a total of 309 classroom and science teachers participated in the study. The instruments used for data collection were the Environmental Identity Scale and the Environmental Risk Perception Scale. Both descriptive and inferential analyses were conducted on the data obtained. The analyses conducted revealed that environmental identity and environmental risk perception were high among teachers, there were no differences between subjects, and there was a positive relationship between environmental identity and environmental risk perception.

© 2022 IJPES. All rights reserved

Keywords:

Environmental identity, environmental behavior, environmental risk perception, nature connectedness

1. Introduction

The human-environment relationship is among the most studied subjects in environmental education. Human behavior is important in the reciprocal relationship between humans and the environment. Wherever a person is, they are physically and socially in contact with the environment. Human relations cannot be explained independently of context, place, and environment. Environmental research presents the effects of individuals on the environment or their perceptions about the environment. People's actions on a local or global scale, the effects of these actions on the environment, and many threats to the sustainable environment originate from human behavior (Yaşaroğlu, 2020). Therefore, it is crucial to examine the environmental behaviors of humans to adopt healthier approaches to the environment and make environmental education activities more effective.

The importance of human behavior on the environment increases the importance of environmental education. Environmentally friendly behaviors help to provide a more livable world and a sustainable environment. Environmental identity and environmental risk affect environmental behavior, as will be discussed in detail in the theoretical part. Another factor is teachers' environmental risk perceptions and environmental identities as an important figure in environmental education because teachers' attitudes also affect teacher motivation

Citation: Yaşaroğlu, C. & Otlu, H. (2022). A research on the environmental identities and environmental risk perceptions of classroom and science teachers according to different variables. *International Journal of Psychology and Educational Studies*, 9(2), 450-461. https://dx.doi.org/10.52380/ijpes.2022.9.2.723

¹Corresponding author: Faculty of Education, İnönü University, Malatya, Turkey e-mail: cihat.yasaroglu@inonu.edu.tr

for education. This study is about environmental identities and environmental risk perceptions of classroom and science teachers.

Environmental education is important for raising an environmentally conscious, sensitive, and responsible generation. The proficiency levels of educators who will give environmental education are also significant (Öztürk et al., 2015). Raising individuals who are conscious about and sensitive to the environment, who have environmental knowledge, and who can also be active participants in environmental problems is one of the effective ways to find solutions to environmental problems.

Perceiving and making sense of the immediate phenomena around the individuals is an effective agent in developing positive attitudes towards the environment (Yücel & Özkan, 2018). In addition, the aim of environmental education should be the development of behaviors to protect the environment. People should be raised as individuals who have a high perception of environmental risk, and they should turn this perception into attitudes and behaviors. Environmental education should be provided at an early age for an environmentally sensitive and conscious society (Tümer & Sümen, 2020; Yaşaroğlu, 2012).

1.1. Environmental Identity

Identity is defined as a collection of signs, qualities, and characteristics that show what kind of a person is as a social being (TDK, 2020). The identity of humans as social beings significantly affects our communication and interaction with our social and physical environments. Environmental identity is an important factor used in environmental studies to understand environmental-human interaction.

Identities define social roles, and these roles require several responsibilities. Environmental identity can describe how abstract global issues become urgent and personal for an individual. Environmental identity also determines the course of action in line with their sense of self. Understanding identity and its role in mediating behavior towards the natural world helps us understand research results and enables us to draw important practical implications. The better we understand what makes people passionate about the environment, the better we understand the psychological mechanisms that promote protective environmental policies and behaviors (Clayton & Opotow, 2004).

Environmental identity defines who people are while reflecting the extent to which people place environmental protection at the center of their lives and the extent to which they express environmental protection through their behavior (Gatersleben et al., 2012). Blatt states that people can define themselves in different ways about their identities related to nature by using studies in fields such as deep ecology, environmental ethics, ecopsychology, environmental education research, and history of science. In an extensive list, Blatt notes that humans can define themselves as an essential or insignificant part of nature, as someone who harms nature, as superior to nature, as conquerors of nature, as independent or separate from nature, as separate but connected to nature, as dependent on nature, as protectors of nature, and as defenders of nature. Our environmental identity can contain one or more of these feelings, which we think may conflict with each other (Blatt, 2013).

A critical aspect of identity is it being linked to the natural world. As humans, we try to express our environmental identity by making connections (place identity) to certain natural objects such as pets, trees, or geographic locations (Clayton, 2003). Research also proved that the physical environment has strong connections with the sense of self and that identity is an important behavioral mediator (Devine-Wright & Clayton, 2010). On the other hand, Clayton et al. associated environmental identity with general environmental anxiety and with the sense of connection with animals (Clayton et al., 2011).

Along with environmental identity, it is necessary to include place identity and green self-identity in environmental identity. "Place identity", which is one of these concepts, is a cognitive mechanism according to most studies and is a component of self-concept or personal identity. Place identity also develops environmentally responsible behaviors and plays a vital role in developing pro-environmental behaviors (Hernández Bernardo et al., 2010). Another concept is the green identity. "Green" self-identity, in other words, to which extent do the individuals consider themselves as environmentalists, generally predicts pro-environmental intentions and behaviors (Lalot et al., 2019). In fact, green identity as a concept can be associated with being more environmentalist. Lalot et al. revealed an overall positive correlation between self-identity and pro-environmental intentions in four empirical studies evaluating green self-identity and measuring

green and non-green behaviors in a person's past life. In addition, the environmental identities of the participants were also found to be high in this study (Lalot et al., 2019).

Environmental identity is an important predictor of the intention to actualize pro-environmental behaviors. If the environmental self-identity is strong, a person's judgments, attitudes, and intentions are proenvironmental and environmentally friendly (Carfora et al., 2017; Gatersleben et al., 2012; Van der Werff et al., 2014). Many studies show that environmental identity is effective on pro-environmental behaviors. Although Payne (2001) claims that research on environmental identity is insufficient, the number of studies has increased in recent years, especially within the scope of environmental psychology (Devine-Wright & Clayton, 2010). Studies have shown that a solid environmental self-identity increases behaving pro-environmentally and increases motivation (Ajibade & Boateng, 2021; Carfora et al., 2007; Clayton et al., 2011; Gatersleben et al., 2012; Kashima et al., 2014; Van der Werff et al., 2014; Whitmarsh & O'Neill, 2010), it contributes to energy savings (Bonan et al., 2021) and is also associated with support for animal rights (Clayton et al., 2011). There is an urgent need for people to take action to reduce the environmental damage caused by climate change and other environmental crises they face. Accordingly, it is suggested that the relationship between nature attachment and environmental activism can be understood as a result of collective identity processes (Schmitt et al., 2018). Understanding what makes people passionate about the environment also makes it easier to understand the psychological mechanisms that encourage protective environmental policies and behaviors (Clayton & Opotow, 2004). This leads us to environmental education. Environmental education is an element that affects the formation or strengthening of environmental identity. One study shows that the Environmental Science course affects the environmental identities of students. It has been observed that many students taking the course care about environmental identity as they gain knowledge about environmental problems and become aware of the environmental effects of their behavior (Blatt, 2013). In another study, a group of young people travelling to South Asia to participate in a global education program focusing on the effects of climate change shows that these experiences and interactions effectively develop environmental identity. Social interactions with different types of people have been shown to have characteristic effects on the development of young people's environmental identities (Stapleton, 2015). Environmental Risk

In general, risk is a situation, event, or activity that has uncertain or negative consequences and affects something people value. The two critical components of risk are the severity and uncertainty of the negative outcome or loss. To characterize an outcome as negative involves assessing the events, namely judgment. Perception of risk refers to people's subjective judgments about the risk associated with any situation, event, activity, or technology (Böhm & Tanner, 2019). As an emotion, risk expresses our quick, instinctive, and intuitive reactions to danger (Slovic et al., 2004). In other words, risk is the subjective judgment of individuals about the severity and characteristics of threat. For a risk to be a problem for an individual, it must first be perceived as a problem (Böhm & Tanner, 2019; Kahyaoğlu, 2012).

Environmental risks differ from other risks in various ways. First, environmental risks are characterized as complex causal relationships and high complexities and uncertainties, requiring multiple outcomes. Second, environmental risks stem from the collective behaviors of individuals rather than single acts. Therefore, problems may not be solved easily since many people should respond collectively. Third, the consequences of environmental risks are generally delayed, and they are geographically dispersed. The people who cause a risk and those who suffer from the consequences may differ. Hence, environmental risks cause ethical problems (Böhm & Tanner, 2019).

Different factors affect risk perception. The perceptions of regular participants and experts were examined in a study investigating ecological risks related to human activities that may adversely affect water resource environments. Four factors were determined in this study: ecological impact, human benefits, controllability, and knowledge (McDaniels et al., 1997). It was stated that higher risk perception might positively impact increasing people's willingness to deal with environmental risks (De Dominicis et al., 2015). Personal and sentimental values and ethos affect the awareness of ecological risks (Böhm & Tanner, 2019; Slimak & Dietz, 2006). For example, in a study, it was found that there is a moderately significant positive correlation between the human-centered approaches of primary school teacher candidates and their environmental risk perceptions and environmental behaviors (Kaya et al., 2012). Environmental education is another factor affecting environmental risk. In a study conducted with university students, a significant and positive relationship was found between environmental education and environmental risk perceptions of students.

The students who participated in the research stated that taking at least one environmental course during their university education affected all aspects of their environmental risk perceptions (Durmuş-Özdemir & Şener, 2016).

A study measuring flood risk perceptions in a residential area in Italy concluded that flood risk perception alone explained most of the variance in preventive behaviors to cope with flood risk (De Dominicis et al., 2015). This shows that a high perception of environmental risk increases the probability of exhibiting environmentalist behaviors. It was found out in another study conducted with university students that the most frequently consulted sources of information about risk perceptions were the internet and social networks. Nevertheless, information from internet resources and social networks was associated with an even higher risk perception (Carducci et al., 2019).

Place attachment is another factor of environmental risk. A study on environmental risk showed that place attachment is an important variable (De Dominicis et al., 2015). Another study determined that security feelings about a place cause environmental risk perception to be higher (Quinn et al., 2019). This can be interpreted as the higher the importance of the place, the higher the reflexes to protect it are. Likewise, people's responsibility to protect their family and friends also significantly affects their individual risk perceptions (Liu et al., 2020).

This study evaluates classroom and science teachers' environmental identities and environmental risk perceptions. In primary schools in Turkey, life sciences are given as a course in the first three grades, and science is taught in the third and fourth grades. Classroom teachers' environmental identities and environmental risk perceptions should be evaluated since environmental issues are also covered within the scope of life sciences courses. However, no studies in the literature directly evaluate risk perceptions and environmental identities of classroom teachers. On the other hand, comparing the environmental identities and environmental risk perceptions of science teachers using the findings obtained from the study with classroom teachers can also contribute this research to the literature.

1.2. Research Problems

This study aims to assess environmental identities and perceptions of environmental risks by classroom and science teachers using several variables. Within this objective, answers to the following questions were sought:a. What are the environmental identity and environmental risk perceptions of classroom teachers and science teachers?

- b. Do classroom and science teachers' environmental identities and environmental risk perceptions differ according to gender, subject, and natural disaster experiences?
- c. What is the relationship between the environmental identities and environmental risk perceptions of teachers?

Today, with the introduction of information and communication technologies into every aspect of daily life, it is seen that we are in rapid change through the formation of a digital world. The digital world consists of every activity carried out in the cyber world (Kabakçı Yurdakul et al., 2013). Digitizing in every aspect gathered momentum with the pandemic experienced in 2020 in the whole world. Online classes during the pandemic resulted in increased screen time, and AAP recommends that parents be more lenient about this subject (AAP, 2020). Increased screen time has also been reported in Turkey due to COVID-19 (BAU, n.d.). Research indicates that students' screen time increased five hundred times with the pandemic period in Turkey (Hürriyet, 2021). One of the most fundamental reasons for the increase in screen time is the transformation to home-based online education instead of face-to-face education. Face-to-face education at schools officially stopped in Turkey when the first COVID-19 case was declared, and online education started. Other countries experienced similar events; for example, China introduced similar measures as well (Wang et al., 2020).

2. Methodology

2.1. Research Model

Since this study aims to determine the environmental identity and risk perceptions of classroom and science teachers, the correlational study method, one of the quantitative research method modelswas used.

Correlational research is a survey type that allows the researcher to determine the size and degree of a current relationship between two or more continuous quantitative variables. Correlation research involves collecting data from a sample of individuals or objects to determine the degree of relationships between two or more variables for the probability of making predictions based on these relationships (Lavrakas, 2008).

2.2. Research Sample

The study group of this research consisted of 197 classroom teachers and 112 science teachers, who were included in the group using the convenience sampling method, working in a province in the Eastern Anatolia Region (n= 309). Convenience sampling is a technique that aims to include close, easily accessible, or suitable people in the research and is frequently used in social research (Bailey, 1994; Bhattacherjee, 2012; Bryman, 2012; Howitt, 2016).

The demographic information of the teachers who participated in the study shows that 63.75% of 309 teachers were classroom teachers, and 36.25% were science teachers. 180 (58.25%) were female, and 129 (41.75%) were male. According to seniority, 136 teachers have 1-3 years, 97 teachers 3-5 have years, 43 teachers have 5-7 years, and 33 teachers have seven years or more experience. Finally, 161 teachers (52.10%) stated that they had experienced a natural disaster, while 148 teachers (47.90%) indicated that they did not experience any natural disasters.

2.3. Data Collection Tools and Procedure

A data collection tool consisting of three sections was used as a data collection tool in the research. The first section consists of questions written by the researchers to collect demographic information about classroom and science teachers. The second part of the data collection tool is the Environmental Identity Scale (EIS), and the third part is the Environmental Risk Perception Scale (ERPS). Descriptive information on scales is provided below.

Environmental Identity Scale: The EIS developed by Clayton (2003) and adapted to Turkish by Clayton and Kılınç (2013), consists of 24 5-point Likert-type items and 4 sub-dimensions. The items in the scale consist of items at the level of individuals' relations with the natural environment to determine the environmental identities of the participants. The scale consists of the following sub-dimensions: "Environmental Identity", "Desire to be Nature-Connected", "Resemblance to Nature", and "Environmental Behavior". Participants who filled out the scale were asked to rate each item between 1 (Strongly Disagree) and 5 (Strongly Agree). Clayton (2003) found Cronbach's Alpha reliability coefficient of the scale to be 0.90, while Clayton and Kılıç found it between .60 and .80 for four factors. In this study, the internal consistency coefficients of the sub-dimensions were calculated as between .62 and .92.

Environmental Risk Perception Scale: The ERPS was developed by Slimak and Dietz (2006), and adapted to Turkish by Altunoğlu and Atav (2009). The 5-point Likert scale was adapted to Turkish as a 7-point Likert scale. It consists of 23 items and four sub-dimensions: ecological risks, chemical waste risk, resource depletion risk, and global environmental risks. Participants were asked to rate the items in a scale between 1 (Not at all Important) and 7 (Very Important). Slimack and Diez calculated the Cronbach's Alpha internal consistency coefficients of sub-dimensions as 0.64 and .91; Altunoğlu and Atav calculated it as .69 and .82. In this study, the reliability coefficients for the sub-dimensions were calculated as between .65 and .87.

The data were collected in 2020 – 2021. The scales were converted into online forms after obtaining the necessary permissions. The online forms prepared were sent to the classroom and science teachers by the researchers using digital environments, and the teachers were asked to fill out the form. It took three weeks for the teachers to fill out the form. Ethical rules were followed in all processes of this article.

2.4. Data Analysis

The obtained forms were checked physically after the teachers filled out the online forms. It was observed that the forms were correctly and appropriately filled. The data were transferred to the SPSS program, and analyses were carried out using 309 data collection tools. Both descriptive and inferential statistics were used in the analysis of the data. Descriptive statistics such as arithmetic mean and standard deviation were used to analyze the scale and its sub-dimensions. In the inferential analysis, the normality distribution of the data was

tested first, and analyses were carried out on the data that were not found to have a normal distribution (Table 1). Accordingly, Kruskal-Wallis and Mann-Whitney-U tests were applied according to the gender, subject of the teachers, and whether or not the teachers experienced natural disasters. In addition, the Spearman correlation coefficient (r) was calculated to determine the environmental risk perceptions of teachers according to their environmental identities.

Table 1. Kolmogorov Simirnov Tets Results for Normality

Variables	Statistic	df	р
Environmental Identity	.13	309	.00*
Desire to be Nature-Connected	.19	309	.00*
Resemblance to Nature	.13	309	.00*
Environmental Behavior	.18	309	.00*
Ecological Risks	.18	309	.00*
Chemical Waste Risk	.21	309	.00*
Resource Depletion Risk	.08	309	.00*
Global Environment Risk	.22	309	.00*

p < .05

2.5. Ethical

This study was performed in compliance with ethical procedures. The approval of the ethics committee was required. It was granted by the decision of the Ethics Committee of Bingöl University on 30.12.2020 under the number E-23859.

3. Findings

This section presents the descriptive findings of the scales, the difference in environmental identity and risk perceptions according to the subject, gender, seniority, and natural disaster experience, and the mutual relationship between environmental identity and environmental risk perceptions. The environmental identities and environmental risk perceptions of classroom teachers (n= 197) and science teachers (n= 112) were analyzed in accordance with the first problem.

The analysis showed that the desire to be nature-connected (\overline{X} = 4.40; ss=.64) and environmental identities (\overline{X} = 4.30; ss=.64) of classroom teachers (n= 197) were extremely high (Strongly Agree). Resemblance to nature (\overline{X} = 4.15 ss=.66) and environmental behavior (\overline{X} = 4.04; ss=.77) were high (Agree). It was seen that the level of environmental identity (\overline{X} = 4.30; ss=.64), desire to be nature-connected (\overline{X} = 4.40; ss=.64), resemblance to nature (\overline{X} = 4.15 ss=.66), and environmental behavior (\overline{X} = 4.04; ss=.77), sub-factors of environmental identity, of science teachers (Strongly Agree) were extremely high.

When the environmental risk perceptions of teachers were analyzed, it was concluded that the classroom teachers thought that the resource depletion risk ($\overline{\overline{X}}$ = 5.43; ss= 1.13) as important, and ecological risks ($\overline{\overline{X}}$ = 6.25; ss=.86), chemical waste risk ($\overline{\overline{X}}$ = 6.34; ss=.82) and global environment risks ($\overline{\overline{X}}$ = 6.22; ss= .82) as very important. Similarly, science teachers thought that resource depletion risk ($\overline{\overline{X}}$ = 5.57; ss= 1.11) as important, ecological risks ($\overline{\overline{X}}$ = 6.37; ss=.68), chemical waste risk ($\overline{\overline{X}}$ = 6.51; ss=.63) and global environment risks ($\overline{\overline{X}}$ = 6.34; ss= .75) as very important.

There is no significant difference in environmental identity (U=11342.50, p > 0.05), desire to be nature-connected (U=11462.50, p > 0.05), to nature (U=10462.50, p > 0.05), and ecological behavior (U=10799.50, p > 0.05) according to the results of the Mann Whitney U test, which was conducted to test the differences in environmental identity and environmental risk perception among teachers based on gender. A significant difference in favor of women regarding perceptions of global environmental risks (U=9348.50, p<0.05) and ecological risks (U=9870.00, p<0.05) was found in environmental risk perceptions. There is no significant difference between the chemical waste risk (U=10354.50, p<0.05) and the resource depletion risk (U=10643.500, p>0.05).

Table 2. *U-Test Results on Differences in Environmental Identity and Environmental Risk Perception by Gender*

Factor	Gender	n	Mean of Ranks	Total of Ranks	U	p
Environmental	Female	180	156.49	28167.50	11342.500	.727
Identity	Male	129	152.93	19727.50	11342.300	./ 2/
Desire to be Nature-	Female	180	115.82	28047.50	11462.500	.845
Connected	Male	129	153.86	198.4750	11462.300	
Resemblance to	Female	180	161.38	29047.50	10462.500	.134
Nature	Male	129	146.10	18847.50	10402.300	
Environmental Behavior	Female Male	180 129	159.50 148.72	28710.50 19184.50	10799.500	.282
Ecological Risks	Female	180	164.67	29640.00	9870.000	.022*
Leologicai Nisks	Male	129	141.51	18255.00	2070.000	
Chemical Waste Risks	Female	180	161.98	29155.50	10354.500	.091
	Male	129	145.27	18739.50	10554.500	
Resource Depletion	Female	180	160.37	28867.00	10643.000	.209
Risk	Male	129	147.50	19028.00	10045.000	
Global Environment	Female	180	167.56	30161.50	9348.500	.002*
Risk	Male	129	137.47	17733.50	7340.300	

*p<.05

Table 3. U-Test Results on the Difference in Environmental Identity and Environmental Risk Perceptions by Subject

Factor	Subject	n	Mean of Ranks	Total of Ranks	U	р
Environmental	Classroom Teacher	197	150.87	29720.50	10217.500	.276
Identity	Science Teacher	112	162.27	18174.50	10217.300	
Desire to be	Classroom Teacher	197	152.11	29965.50		
Nature- Connected	Science Teacher	112	160.08	17929.50	10462.500	.438
Resemblance to	Classroom Teacher	197	149.26	29403.50	0000 500	.130
Nature	Science Teacher	112	165.10	18491.50	9900.500	
Environmental	Classroom Teacher	197	148.25	29205.50	0702 500	070
Behavior	Science Teacher	112	166.87	18689.50	9702.500	.070
Ecological Risks	Classroom Teacher	197	151.96	29937.00	10434.000	.418
Ecological Risks	Science Teacher	112	160.34	17958.00	10434.000	
Chemical Waste	Classroom Teacher	197	149.58	29467.50	0074 500	1 / 1
Risk	Science Teacher	112	164.53	18427.50	9964.500	.141
Resource	Classroom Teacher	197	150.20	29588.50	10085.500	.208
Depletion Risk	Science Teacher	112	163.45	18306.50	10065.500	.206
Global	Classroom Teacher	197	150.93	29734.00		
Environment Risk	Science Teacher	112	162.15	18161.00	10231.000	.271

Table 3 shows the results of the Mann-Whitney U test conducted to determine the differences between environmental identity and teachers' perceptions of environmental risks by their subjects, which is another subproblem. The analysis conducted did not result in a significant difference in environmental identities and environmental risk perceptions of teachers according to their branches [environmental identity (U=10217.50, p>0.05), desire to be nature-connected (U=10462.50, p>0.05), resemblance to nature (U=9900.50, p>0.05), environmental behavior (U=9702.50, p>0.05), ecological risks (U=10434.00, p>0.05), chemical waste risk (U=9964.50, p>0.05), resource depletion risk (U=10085.50, p>0.05) global environment risk (U=10231.00, p>0.05)].

Table 4. U-Test Results on the Differences in Environmental Identity and Environmental Risk Perceptions According to the Natural Disaster Experiences of Participants

Factor	Natural Disaster Experience	n	Mean of Ranks	Total of Ranks	U	p
Environmental Identity	Yes	161	153.02	24637.00	11596.000	.683
	No	148	157.15	23258.00	11390.000	
Desire to be Nature-Connected	Yes	161	145.16	23370.00	10329.000	.038*
Desire to be i varare connected	No	148	165.71	24525.00	10027.000	.000
Resemblance to Nature	Yes	161	151.03	24315.50	11274.500	.410
Resemblance to Nature	No	148	159.32	23579.50	112/4.500	
Environmental Behavior	Yes	161	156.66	25223.00	11646.000	.725
	No	148	153.19	22672.00	11040.000	
Ecological Risks	Yes	161	158.24	25476.50	11392.500	.497
	No	148	151.48	22418.50	11392.300	
Cl I.W D. I	Yes	161	157.46	25351.00	11510 000	.599
Chemical Waste Risk	No	148	152.32	22544.00	11518.000	
Resource Depletion Risk	Yes	161	168.24	27086.00	9783.000	.006*
	No	148	140.60	20809.00	77.00.000	.000
Global Environment Risk	Yes	161	159.07	25610.00	11050 000	.387
	No	148	150.57	22285.00	11259.000	

p < .05

Table 4 presents the Mann-Whitney U Test results regarding the significant difference in teachers' environmental identities and environmental risk perceptions according to their natural disaster experiences, which is another sub-problem. The analyzes revealed a significant difference in favor of teachers who had not experienced natural disasters in the desire for nature connectedness sub-dimension of environmental identity (U=10329.00, p < 0.05), no difference was found in other sub-dimensions [environmental identity (U=11596.00, p > 0.05), nature connectedness (U=11274.50, p > 0.05), environmental behavior (U=11646.50, p > 0.05)]. While there was a significant difference in the sub-dimension resource depletion (U=9783.000, p < 0.05) of the environmental risk perception scale in favor of teachers who had experienced natural disasters, in the other sub-dimensions [ecological risk (U=11392.50, p > 0.05), chemical waste risk (U=11518.00, p > 0.05), global environmental risk (U=11259.00, p > 0.05)], no significant difference was found.

Table 5. *Correlations for Study Variables*

Variables	Ecological	Chemical Waste	Resource	Global
variables	Risks	Risk	Depletion Risk	Environment Risk
Environmental Identity	.44**	.44**	.11*	.39**
Desire to be Nature-Connected	.35**	.35**	.06	.31**
Resemblance to Nature	.41**	.41***	.12*	.36**
Environmental Behavior	.37**	.36**	.13*	.35**

^{*}p < .05; ** p < .01

Table 5 shows the Spearman correlation analysis results. According to the results of Spearman correlation analysis performed to determine the relationship between teachers' environmental identity (n= 309) and their perception of environmental risks, which is the last problem set, environmental identity and ecological risks were (r=.44; p < .01), chemical waste risk (r=. .44; p < .01), and global environmental risks (r=.39; p < .01) were positively moderately correlated, and resource depletion risk (r=.11; p < .05) was positively weakly correlated with the above risks. The other sub-dimensions, the desire to be nature-connected and ecological risks (r=.35; p < .01), chemical waste risk (r=.35; p < .01) and global environmental risks (r=.31; p < .01)) was positively moderately correlated, and no correlation was found with the resource depletion risk (r=.06; p > .05). There was a moderate positive correlation between the resemblance to nature sub-dimension and ecological risks (r=.41; p < .01), chemical waste risk (r=.41; p < .01), and global environmental risks (r=.36; p < .01), and a weak positive correlation with the resource depletion risk (r=.12; p < .05). Lastly, there was a moderate positive correlation

between environmental behavior and ecological risks (r=.37; p<.01), chemical waste risk (r=.36; p<.01), and global environmental risks (r=.35; p<.01), and a weak positive correlation with the resource depletion risk (r=.13; p<.05).

4. Conclusion and Discussion

Data collected from 309 teachers were analyzed in this study. The environmental identities and environmental risk perceptions of classroom and science teachers were examined according to several variables using the correlational survey model. The results obtained as a result of the analysis are presented and discussed.

First, the descriptive analysis results of teachers' environmental identity and environmental risk perceptions are presented. Classroom teachers' environmental identities and desire to be nature-connected were relatively high, and their resemblance to nature and environmentalist behaviors was high. Environmental identity perceptions of science teachers were quite high in all sub-dimensions. Different results were obtained from studies conducted to measure environmental identities or risk perceptions in different sample groups. It was determined that the environmental identities of pre-service teachers in different subjects were very strong (Öztarakçı, 2019), and the environmental identities of pre-service science teachers were relatively strong (Tanık Önal et al., 2020).

According to the descriptive analysis results of environmental risk perceptions of teachers, classroom teachers perceive the resource depletion risk high and chemical waste, ecological, and global environmental risks at a very high level. On the other hand, science teachers perceive the resource depletion risk of environmental risks at a high level and chemical waste, ecological and global environmental risks at a very high level. Due to the inadequacy of studies to determine environmental risks in teacher groups, the findings obtained in this study were discussed with the results obtained from different sample groups. Accordingly, in a study conducted with high school students, the perception of environmental risks was found to be above the mean level (Altunoğlu & Atav, 2009), while in a study conducted with adolescents, the perception of environmental risks was at a significant level (Tuemer & Suemen, 2020). Risk perceptions of university students (Sam et al., 2010) and nursing department students in another study were also found to be high (Sayan & Kaya, 2016). In different studies, the highest perceived risk in university students was found to be the release of radioactive materials associated with nuclear energy production (Yapici et al., 2017), and the risk for chemical pollution of water and food was at a high level (Carducci et al., 2019).

The study concluded that the environmental identities of classroom and science teachers did not differ according to gender. This finding partially overlaps with the findings in the literature. While one study concluded that pre-service teachers' environmental identities did not differ by gender (Oeztarakçı, 2019), another study that measured environmental identity found that female teachers identified more strongly with an environmental consumer identity than male teachers. (Gatersleben et al., 2012).

Looking at the result of differentiation in teachers' perception of environmental risks, it became clear that women perceive ecological risks and global environmental risks more than men doThere was no difference in the views of male or female participants in other sub-dimensions. Some studies in the literature showed no difference based on gender in environmental risks, while in some studies, it was observed that male participants had higher risk perceptions, while others stated that female participants had a higher risk perception. To support the finding of this study, studies have shown that environmental risk perception does not differ by gender among secondary school students (Kahyaoğlu, 2012; Palancı & Sarıkaya, 2019), adolescents (Tümer & Suemen, 2020), and young professionals (Kızılay & Tanık Önal, 2019). A study conducted with university students determined that female participants had higher risk perceptions than male participants (Sam et al., 2010; Yapici et al., 2017). Again, in the study in which the environmental risk perceptions of nursing department students were measured, it was determined that the risk perceptions of female students were significantly higher than male students (Sayan & Kaya, 2016). There are also findings indicating that environmental risk perceptions are higher in males. For example, in a study with a total of 1700 surveys in six cities in China, it was found that men have a higher risk perception than women (Liu et al., 2020).

According to the subject they teach, there was no difference in the environmental identity and environmental risk perceptions of classroom and science teachers. According to a similar finding, the environmental risk

perceptions of pre-service teachers do not differ according to the subject (Kahyaoğlu, 2012). This study has stated that environmental identities and environmental risk perceptions are important because classroom and science teachers are important actors in environmental education. In this study, it can be said that the environmental identities and environmental risk factors of classroom and science teachers did not differ, as the high environmental identities and environmental risk perceptions of both subject teachers can be understood from the descriptive analyses.

Teachers who stated that they did not experience natural disasters were more willing to be nature-connected than teachers who experienced natural disasters. Teachers who experienced natural disasters perceived the risk of resource depletion more strongly than teachers who did not experience natural disasters. On other subdimensions, the views of teachers who experienced natural disasters and those who did not did not differ. No other study in the literature examines the relationship between natural disaster experience and risk perception or environmental identity. However, it has been stated that the interaction of young people with citizens affected by climate change is essential for developing their environmental identities (Stapleton, 2015).

Teachers who did not experience natural disasters had a higher desire to be nature-connected than teachers who experienced natural disasters can be explained by the fact that teachers who have experienced natural disasters associate themselves less with the environment. On the other hand, the perception of the resource depletion risk of teachers experiencing natural disasters may be related to the possibility of establishing a relationship between resource depletion and the environmental disasters they experienced.

There was a positive relationship between environmental identities and environmental risk perceptions of teachers. There was a moderate positive correlation between the dimensions of environmental identity, being nature-connected, resemblance to nature and environmental behavior, and ecological risks, chemical waste risk, and global environmental risks when the context of sub-dimensions was considered. There was a low positive correlation between environmental identity, resemblance to nature, environmental behavior, and resource depletion risk. However, there was no correlation between being nature-connected and resource depletion risk.

5. References

- Altunoğlu, B. D., & Atav, E. S. (2009). Ortaöğretim öğrencilerinin çevre risk algısı. *Hacettepe Üniversitesi Eğitim Fakültesi Dergisi*, *36*, 1–11.
- Bailey, K. D. (1994). *Methods of social research* (4. Ed.). The Free Press. https://doi.org/10.1017/CBO9781107415324.004
- Bhattacherjee, A. (2012). Social science research: Principles, methods, and practices. In *Pure and Applied Chemistry*. https://doi.org/10.1351/pac198961091657
- Blatt, E. N. (2013). Exploring environmental identity and behavioral change in an Environmental Science course. *Cultural Studies of Science Education*, 8(2), 467–488. https://doi.org/10.1007/s11422-012-9459-2
- Bonan, J., Cattaneo, C., D'Adda, G., & Tavoni, M. (2021). Can social information programs be more effective? The role of environmental identity for energy conservation. *Journal of Environmental Economics and Management*, 102467. https://doi.org/10.1016/j.jeem.2021.102467
- Böhm, G., & Tanner, C. (2019). Environmental risk perception. In L. Steg & J. I. M. De Groot (Ed.), *Environmental Psychology: An Introduction* (ss. 40–53). John Wiley & Sons.
- Bryman, A. (2012). Social research methods. (4. Ed.). Oxford University Press Inc.
- Carducci, A., Fiore, M., Azara, A., Bonaccorsi, G., Bortoletto, M., Caggiano, G., Calamusa, A., De Donno, A., De Giglio, O., Dettori, M., Di Giovanni, P., Di Pietro, A., Facciolà, A., Federigi, I., Grappasonni, I., Izzotti, A., Libralato, G., Lorini, C., Montagna, M. T., ... Ferrante, M. (2019). Environment and health: Risk perception and its determinants among Italian university students. *Science of the Total Environment*, 691, 1162–1172. https://doi.org/10.1016/j.scitotenv.2019.07.201
- Clayton, S. & Kilinç, A. (2013). Proenvironmental concern and behavior in Turkey: The role of national and environmental identity. *PsyEcology*, 4(3), 311–330. https://doi.org/10.1174/217119713807749850

- Clayton, S. & Opotow, S. (2004). Introduction: Identity and the natural environment. In Clayton, S. & Opotow, S. (Ed.), *Identity and the natural environment: The psychological significance of nature*. The MIT Press.
- Clayton, S. (2003a). Environmental Identity: A conceptual and an operational definition. In *Identity and the natural environment: The psychological significance of nature.* (pp. 45–65). MIT Press.
- Clayton, S. (2003b). Environmental Identity: A conceptual and an operational definition. In *Identity and the natural environment: The psychological significance of nature.* (pp. 45–65). MIT Press.
- Clayton, S., Fraser, J., & Burgess, C. (2011). The role of zoos in fostering environmental identity. *Ecopsychology*, 3(2), 87–96. https://doi.org/10.1089/eco.2010.0079
- De Dominicis, S., Fornara, F., Ganucci Cancellieri, U., Twigger-Ross, C., & Bonaiuto, M. (2015). We are at risk, and so what? Place attachment, environmental risk perceptions and preventive coping behaviours. *Journal of Environmental Psychology*, 43, 66–78. https://doi.org/10.1016/j.jenvp.2015.05.010
- Devine-Wright, P., & Clayton, S. (2010). Introduction to the special issue: Place, identity and environmental behaviour. *Journal of Environmental Psychology*, 30(3), 267–270. https://doi.org/10.1016/S0272-4944(10)00078-2
- Durmuş-Özdemir, E. & Şener, S. (2016). The Impact of higher education on environmental risk perceptions. *China-USA Business Review*, 15(9). https://doi.org/10.17265/1537-1514/2016.09.005
- Hernández Bernardo, B., Martín, A. M., Ruiz, C., & Hidalgo, M. del C. (2010). The role of place identity and place attachment in breaking environmental protection laws. *Journal of Environmental Psychology*, 30(3), 281–288. https://doi.org/10.1016/j.jenvp.2010.01.009
- Howitt, D. (2016). Introduction to qualitative methods in psychology (3th baskı). Pearson.
- Kahyaoğlu, M. (2012). The relationship between teacher candidates' environmental risk perceptions and problem solving skills. Içinde *Journal of Education and Future* (C. 2).
- Kaya, M. F., Kahyaoğlu, M., & Birel, G. F. (2012). An evaluation of elementary teacher candidates' environmental approaches, environmental risk perceptions and environmental behaviours. *Procedia Social and Behavioral Sciences*, 55, 1098–1103. https://doi.org/10.1016/j.sbspro.2012.09.602
- Kızılay, E., & Tanık Önal, N. (2019). From the environmental identity to the behavior: The status of pre-service science teachers. *International Journal of Evaluation and Research in Education (IJERE)*, 8(2), 271. https://doi.org/10.11591/ijere.v8i2.19581
- Lalot, F., Quiamzade, A., Falomir-Pichastor, J. M., & Gollwitzer, P. M. (2019). When does self-identity predict intention to act green? A self-completion account relying on past behaviour and majority-minority support for pro-environmental values. https://doi.org/10.1016/j.jenvp.2019.01.002
- Lavrakas, P. (Ed.). (2008). Encyclopedia of survey research methods. Sage.
- Liu, T., Zhang, H., Li, X., & Zhang, H. (2020). Individual factors influencing risk perceptions of hazardous chemicals in China. *Environmental Research*, 186, 109523. https://doi.org/10.1016/j.envres.2020.109523
- McDaniels, T. L., Axelrod, L. J., Cavanagh, N. S., & Slovic, P. (1997). Perception of ecological risk to water environments. *Risk Analysis*, 17(3), 341–352. https://doi.org/10.1111/j.1539-6924.1997.tb00872.x
- Öztarakçı, D. (2019). Öğretmen adaylarının çevre dostu davranışları ve çevre kimlikleri. Balıkesir Üniversitesi.
- Palancı, E., & Sarıkaya, M. (2019). Ortaokul öğrencilerinin çevre risk algı puanları ile fen bilimleri dersi akademik başarıları arasındaki ilişkinin araştırılması 1. *Anadolu Kültürel Araştırmalar Dergisi*, 3(1), 15–25.
- Quinn, T., Bousquet, F., & Guerbois, C. (2019). Changing places: The role of sense of place in perceptions of social, environmental and overdevelopment risks. *Global Environmental Change*, 57, 101930. https://doi.org/10.1016/j.gloenvcha.2019.101930
- Sam, N., Gürsakal, S., & Sam, R. (2010). Üniversite öğrencilerinin çevresel risk algısı ve çevresel tutumlarının belirlenmesi. *Akademik Bakış Dergisi*, 20, 1–16.

- Sayan, B., & Kaya, H. (2016). Assessment of the environmental risk perceptions and environmental attitudes of nursing students. *Contemporary Nurse*, 52(6), 771–781. https://doi.org/10.1080/10376178.2016.1254051
- Schmitt, M. T., Mackay, C. M. L., Droogendyk, L. M., & Payne, D. (2018). What predicts environmental activism?

 The roles of identification with nature and politicized environmental identity.

 https://doi.org/10.1016/j.jenvp.2018.11.003
- Slimak, M. W., & Dietz, T. (2006). Personal values, beliefs, and ecological risk perception. *Risk Analysis*, 26(6), 1689–1705. https://doi.org/10.1111/j.1539-6924.2006.00832.x
- Slovic, P., Finucane, M. L., Peters, E., & MacGregor, D. G. (2004). Risk as analysis and risk as feelings: Some thoughts about affect, reason, risk, and rationality. *Risk Analysis*, 24(2), 311–322. https://doi.org/10.1111/j.0272-4332.2004.00433.x
- Stapleton, S. R. (2015). Environmental identity development through social interactions, action, and recognition. *The Journal of Environmental Education*, 46(2), 94–113. https://doi.org/10.1080/00958964.2014.1000813
- Tanık Önal, N., Kılınç, A., & Saraçoğlu, S. (2020). Fen bilgisi öğretmen adaylarının çevre kimliklerinin ve çevre dostu davranışlarının incelenmesi. *Uludağ Üniversitesi Eğitim Fakültesi Dergisi*, 33(3), 749–777. https://doi.org/10.19171/uefad.660668
- TDK. (2020). Güncel Türkçe Sözlük.
- Tümer, A., & Sümen, A. (2020). Ergenlerde çevresel risk algısının belirlenmesi (determining the environmental risk perception of adolescents). *Gümüşhane Üniversitesi Sağlık Bilimleri Dergisi*, 9(2), 142-150.
- Yapici, G., Ögenler, O., Kurt, A. Ö., Koçaş, F. & Şaşmaz, T. (2017). Assessment of environmental attitudes and risk perceptions among university students in Mersin, Turkey. *Journal of Environmental and Public Health*, 1-8. https://doi.org/10.1155/2017/5650926
- Yaşaroğlu, C. (2012). İlköğretim birinci kademe öğrencilerinin çevreye yönelik tutum ve davranışlarının değerlendirilmesi [Doktora Tezi]. İnönü Üniversitesi, Malatya.
- Yaşaroğlu, C. (2020). Çevre psikolojisine giriş (C. Yaşaroğlu (Ed.)). Nobel.